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Geaeral Instructions :-
(i) Se-9x ot @oet & o 8- (31), (@) @ @)
Question paper is divided in three sections (A), (B) and (C).
(i) @UE () ¥ ft W & FEAT ARt R
All question of section (A) are compulsory.
(iii) @B @) @ (@) ¥ A Fd ot @& Gz g weE
Solve any one section from section (B) and (C).

(iv) Tw @ug & avit Wt & I O ¥ v W e sty wnfeg

Write all answers of cach section in same pluce.

(v) ftrera wog diar @1 Seora fad deaifaens wel & ferg

Maximum word limit is only for the theoretical question.

1.0,
B HHINHIBTHNNIT e e

https://www.cgboardonline.com




@)

T - ()
Section - (A)
(aTRR wHT awr FRE ¥ g e

(Partnership Firms and Company Accounting)
—

Ay wve@) Foft v A & v wiw | R T
HfY g IR 7 ¥ TRAE T K 1 31w i d W@
THHITN 1 IR M1 TR A [N o agRe g it

Instruction: All question of Section - (A) are compulsory.
Very short answer is up to question no. 1 to 6. Each
question is of 1 mark. Give answer of the question in 1

word or in 1 sentence and objective type questions are
also there.

Eﬁﬁ!m:
Objective Type Question:
w1 R it s afat 1

(30) <% 3o @) ¥ afufawd
@) AW @ AT T
Which of the following is an internal liability -
(a) Bank loan (b) Bank overdraft
(¢) General Reserve (d) None of these

L~-242301-C
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a2 M HR_AA G -
(31) =afrma @
(@) arafas @
() AT |

@ AR

Share application A/c is a -
(a) Personal A/c

(b) Real A/c

(c) Nominal A/c

(d) None of these

-3 Faer@ve s3ifd 8@ §6g @ @ard?

@) RH

@ fashta

@ FH

@ W

Which is not related to nature of goodwill?
(a) Rat |

(b) Cat
(c) Dog

(d) Tiger

WR4  FRjEiE wr S g I 82
When Revaluation A/c is opened?

WPA-5 TR & ITETT FT QT Fa ST Jrar &2
When is partners legal executor A/c opened?

I

1

n

1
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4)
W6 I aw g S
When realization A/c 1s opened?

I

T e wiE 7R 10 7% Y 3T v & TRE T W3
3% faita & s s v @ so we b

Instruction: Question No. 7 to 10 are short answer type
questions. Each question camies 3 marks. Maximum
word-limit of answer is S0 words.

WR-7 AN A W 1A A JEwFa ¥ i wwor fafkg
Wnite three reasons to give admission to a new partner.

3]

TH8 T HHE T 20 % I 20,000 war 3w Foif famh woqet 13]

e T TR e et o et it et
i

A company issued 20,000 equity shares @ 20/- each at
lump-sum. Pass journal entries.

a9 faaw iz 3 100 5 2 4,000, 11% FOT T W 131

fnifera frdn wv ofir amdes & e ww & ré) e wfafvat
$ifeg

Vivek Limited issued 4,000, 11% debentures of 100
each at par and the entire amount was received with

applications. Draw up necessary journal entries in the
books of the company.

L-242301-C
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=10

T -11

Fvr & ar 100 5. 71 50 397 ¥ Forg W IR FRAH
Y 30 %, JAEH T 20 5. w0, 5] 7% g AT W

30 %, SRy 310 &7 PTAT T F 6 SR 3 IS JWM
wor 2 ferm st ¥ woor & waw i oot wfafat 2

Vidhan had 50 shares of Rs 100 each on which he had
paid Rs. 30 on application, Rs. 20 on allotment but failed
to pay Rs. 30 per share on first call. The directors
forfeited his shares. Pass journal entries regarding
forfeiture of shares.

g T 11 9 12 Y I 5 A T T
W 4 JiF FAuifa & v&@% 79 | Fvafs s fear mar b
Instruction: Question No. 11 and 2 are short answer

type questions. Each question cammes 4 marks. Each
question has an internal choice.

I, T I T & W AR & I em-nfy w7 e

5:3:2 ¥ INTT § I { TRt Gl FH;: 30,000 F,
20,000 &. 4T 10,000 ¥ @h T 2015 ¥ Joft 9T & 8%
Tfw F TR | 10% TS X F Hfe2 fmar mar i R
wtmwmmm

A, B and C are partners in a fim shaning profits and losses

in the ratio of 5:3:2. Their capitals were Rs. 30,000,
Rs. 20,000 and Rs. 10,000 respectively. For the year
2015, interest on capital was credited to them @ 10%
p.a. instead of 8% p.a. Pass the necessary adjustment
entry for rectification of the eror.

Bl

(4l
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2 1]

OR

v, qfer sl g ST9eR & S et w: 2:2:0 °
ted & 5 G FE: 10,000 ., 8,000 %, 36,000 % &
T§ ¥ sifew B ¥ A & TrETa g R gt ws%
T oaT FTHTR & St @I 7 shfee @ foray v o f
HTgeH §o & 31 a9 an g veen F wm w aw e
& 6 R T F TR § FTrEHIIER JIEER ¥ gt @
Tz T e W amaitaa fa s wmaem wfafe difsg
Yash, Rashi and Khushi are partners, sharing profits and
losses in the ratio s 2:2:1, their capital were Rs. 10,000,
Rs. 8000 and Rs. 6,000 respectively. At the end of the
year they came to know that interest on capital was not
credited @ 5% p.a which was to be allowed as per
agreement. Instead of altering the signed balance sheet, it
was decided to make an adjustment entry in the capital
account of partners at the beginning of next year. Give
necessary journal entnes.

TR-12 B T T F FRT S AT ($ 9R)

[1+1+1+
Explain the causes of creation of Goodwill. (any four) + 1=4)
AqN
OR
zafa e w2 it fafeat S d e 0

fafordt =1 wagmea

What are the different methods of valuation of goodwill?
Explain any two.

a1/ 11 ' [[]] L
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()

3. g wF 139 15 7% o 0T T & TS TH W
6 3% Puffa B 79 v 7 Ak fawea )

Instruction: Question No. 13 to 15 are long answer type
questions. Each question carries 6 marks. Each question
has an internal choice.

q-13 T3 S o i § aree & 1 9 2015 B3R 6]

FHW: 25,000 %, 37 20,000 5. 41 3R Jeft 7 8% Sfarard A

A ST T AT & 4T TR AT K 12% TS AT

srar & P 3 1 emé 2015 1 10,000 7. FH R BT H T

¥ Ry T 5,000 &, FffF Ja7 H Ffasrt ) 373& e

QS AT 600 §. F 500 &, AT TR 31 fEwR 2015

I AW T T AT ITHT FAET & T 25,000 5. N A§

2015 FT AM-g1f e @ =5y

Nibha and Ranjana are partners in a firm whose capital
on 1* January 2015 were Rs. 25,000 and Rs. 20,000
respectively. They are allowed interest on capital @ 8%
p.a. and interest on drawing is charged @ 12% p.a.
Nibha gave Rs. 10,000 to the firm as a loan on 1* July
2015. Ranjana is entitled to get an annual salary of

Rs. 5,000. Interest charged on thetr drawings were

Rs. 600 and Rs. 500 respectively. The profit for the year
ended on 31* December 2015 before making above
adjustment was Rs. 25,000.

Prepare profit and loss appropriation A/c for 2015.

L L1
OR
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(%)

3 3w o A arger § @ iy w1 R 3
# & b 37 ot 50,000 § 330,000, t foht we
6% 1 7 R s R e aw & W ) A &
¥7 & 2500 & 9fY ad 27 & T 2020 ¥ A0 Pt WS &
At F R R T 1 ad ReeR FarRrafin 2,500
5. a7t & v g v o TR T 5% WO e & w0
e e 3 & g & T et o A ) AT & wnnefa
it ST TN

A and B arc partners in the ratio of 3:2 with capitals of
Rs. 50,000 and Rs. 30,000 respectively on which interest
is payablc @ 6% p.a. ‘B’ is entitled to a salary of Rs. 2,500
p.a. profit for the year 2020 before allowing interest on

capital but after charging B’s salary was Rs. 12,500, The
manager is entitied to a 5% commission on profit (before

charging such commussion).
Prepare profit and loss approprniation A/c.
weA-14 T 3 aeron v o F arger Y 3.2 F env-wif @ 6]
favram w8, T fagr e sy R-
fer
(31 femmt 2011 #)
T ate e qnr
25,000 | 0T N 5,000
e 25,000
q 80,000 (-) SEaE 5,000 | 20,000
FATH 35,000 | 1,15,000 | @y 35,000
qx 45,000
LLC 35,000
1,40,000 1,40,000
LABORE 1 IHHB BRI 2ocoe
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| 3370 2012 A Bt ot or wany w8 174 v F o
HIRATC -y
(1) Y3 &1 15,000 5 8 agrn b
(2) W GET 10,000 5, A 72T B
(3) =Rt O Zarw W & ford aEmaTT 10%% % WA v
(4) ¥ 20,000 5. 72nfA % 2

qA{eie mer e

Ram and Balram arc partners in a firm and profit shanng
ratio is 3:2 balance sheet 1s as under
Balance Sheet
(ason 31.12.2011)

Liabilitics Amount Asscts Amount
Creditors 25.000 | Cash Balance 5.000
Capital A/c. Debtors 25.000
Ram 80,000 (-) Provisions 3,000 20,000
Balram 35,000 | 1,15,000 Sock 35,000

Machinery 45,000
Building_ 35,000
1,40,000 1,40,000
On 1 Jan 2012, Shyam was admitted for 1/4 part on

following condition.
(1) Value of building is to be increased by Rs. 15,000
(2) Cost of machinery to be reduced by Rs. 10,000
(3) Provisions for debtors to be maintained 10%.
(4) Shyam will bring Rs. 20,000 for goodwill.
Prepare Revaluation A/c.

v

—— OR
lr lc eBe L]
NITHNINRIRARE  reco PT.O
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X ARY 31 FERR 11 REaR 2014 B & fag

fafafa -

IRT Tl el i
TR 10,000 | 3ra=ol 16,000
gt S 20,000
X 30,000 ESi 2,000
Y 10000 | 40,000 WS 24,000

TR 12,000

62,000 62,000

3 1 590, 2014 91 Z B =7 TAT WyRw AW ?-
@) Z$hFHTIT10,000 F JMINEH & Wt At A/
1/5 WAT % 1T 8,000 ¥. &1fd & m
(i) Y T FHTR B 10%  F FAT & AW
0T & forT 5% & wfafa & g famar smom

(iii) W T ST 20% § TSR A&
Y R 131
X and Y were partners in the ratio of 3:1. Their Balance
Sheet on 31* December, 2014 was as follows:

Liabilities | Amount Assets Amount
Creditors 10,000 | Debtors 16,000
Capital A/c. Stock 20,000
X 30,000 Fumiture 2,000
Y 10000 | 40,000 | Building 24,000
B/P 12,000

62,000 62,000

L-242301-C
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(1
They admitted Z on |1 January, 2014 on the following
conditions.
(i) Z should bring Rs. 10,000 as capital for 1/5* share.
(i1) Z should bring goodwill Rs. 8,000.
(iii) Reduce furniture and stock at 10%
(iv) Reserve for Bad debts at 5%
(v) Increase building by 20%
Prepare Revaluation account.

wy-15 oy fafies = 3 20 5. 3 10,000 3w iR R [1+1+1+
TR TER AR - 105, AR, ST AEARIAT  1+1+1
5 %, XA T =1 W 400 At & Y & RS § AT =6)
oty e T8 g F i gt § e sfafdat fifag

Lokesh Ltd. Co. issued 10,000 shares of Rs. 20 each
amount payable Rs. 10 on application, Rs. 5 on allotment
and remaining amount Rs. 5 on call. Share holders of 400
share failed to pay call amount. Pass Journal entry in the

 books of the company.
U
OR

o qug w3 IR 20 7. IR 10,000 i Feiley e avit
3tat ¥ I M TIW & R W R ufirt W ver 3 of-
5%, AT W, 10 §. NERTA W, § ¥ Jr=1 W AW H ey
= far mm oft ofiat yw | 1 sraws s st

g
L-242301-C —
RITHIRIHINIRIII  2ecm PT.O
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Neeta and Co. issued 10,000 shares @ Rs. 20 cach.

Application received for all shares payable as Rs. 5 on
application, Rs. 10 on Allotment and Rs. 5 on calls. All
the calls amount received. Pass necessary journal entrics.

£33 v FEF 16 T 17 GEUSTE T B TlS [ W8
siw FufRa & Q% T R ik e

Instruction: Question No. 16 to 17 are numerical
questions. Each question carries 8 marks. Each question
has an internal choice.

w16 fodw, e s w S T ageedstaraaft  [s+3=§)
&1 faurer 2:2:1 & U § = 4 31.12.2018 R &0

o wmyeR -

i qh T o
SRR 24,000 | UFE 12,000
T T 10,000 | 372K 16,000
qa H(-) 500 | 15,500
faa= 30,000 =&Y 15,000
faer@ 24,000 EZics 19,000
famet 12,000 | 66,000 (v 38,500

100,009 1,00,000

v fafe o R ot & qareT @6 Al feram qofeat & vy
THR TG §F - 372N 14,700 %, 9 14,000 %, G

A T ]
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18,000 %, ¥ 41,500 5. 31}t f v § 23,000 %,
f mn 7t ¥ 21 1,000 5. FA W TR AT T
argerl 1 4t " =

Vivek, Vikash and Vishal are partners in a firm and share
profit and loss mn the ratio of 2:2: 1. Balance sheet as on
31.12.2018 is as under

Balance Sheet

Liabilities Amount Assets Amount
Creditors 24,000 | Cash 12,000

General Reserve 10,000 | Debtors 16,000
Capital A/c. (-) Reserve 500 | 15,500
Vivek 30,000 Stock 15,000
Vikash 24,000 Furniture 19,000
Vishal 12,000 66,000 | Building 38,500
1,00,000 1,000,000

Firm dissolved on the above date. Assets realized as
under Debtors Rs. 14,700, Stock Rs. 14,000, Fumniture
Rs. 18,000, Building Rs. 41,500 creditors settled at
Rs. 23,000 Realization Exp. Rs. 1,000.

Prepare realization A/c. & partners capital A/c.

Y
OR

L-242301-C —
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https://www.cgboardonline.com



(14) .
) it e o e & wrdrer & 3 3 31 & e A - 18]
oy 1 v w1 3 31 R 2015 H gl
FoTH T 7 Fivaa faam 37t anfifas Rufy va war oft -

IR e oty qir
SRS 2,700 [§HATHs | 3,000
N G99 3,000 | 2T’ 1,000
A& T B/ 3,000 | <o 19,700
= viqT 9,000
T 12,000
uled 12,000 | 24,000

32,700 32,700

guafuat & ey ageft & - TR 900 7. 19 18,000 %.
T & 7,200 &, AR & FoT YIaH 7 2,600 % farmm
TGl =27 500 %. T T G T WIRT F oft g
<TEA

Radhe and Mohan are partners in a firm who share profit
and losses in the ratio of 3: 1. They decided to dissolve
the firm on 31% December 2015. Their balance sheet was
as follows.

L2ABOLC NITHIBIHORIHEIR oo
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Liabilities Amount Assets Amount
Creditors 2,700 | Cash at Bank 3,000
General Reserve 3,000 | Debtors 1,000
Mohan’s loan 3,000 | Plant 19,700
Capital Building 9,000
Radhe 12,000
Mohan 12,000 24,000

32,760 32,700
Assets were realized as under:

Debtors Rs. 900, Plant Rs. 18,000, Building Rs. 7,200,

creditors were paid Rs. 2,600 in full settiement.

Dissolution expenses amount to Rs. 500.
Prepare Realization A/c and Partners capital A/c.

https://www.cgboardonline.com

w17 dufiiizs Y 1005 I 10,000 3w Frifa AR Fw
30, AT 9T, 40 &, AT T, 10 3. Wo4H JT=1 R 4T
20 %. Jifaw grar w3 & it uftwat aurana i &)

Vansh Ltd. issued 10,000 shares of Rs. 100 each amount
payable as Rs. 30 on application, Rs. 40 on allotment,
Rs. 10 on first call and Rs. 20 as final call. All the
amount were received in time. Pass necessary Journal
entries in the books of the company.

FaqT
OR

[141+1+
1+1+1+1
+1=8)

1-242301-C
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Tfir e Y 100 %, A 1000, 8% Forax fuffer fawh
FTAZT W 10 F., FEZT R 20 ¥, TUF JrGT W40 §, 97
iy greET W 30 ¥, YR woray Y 7 | ufdy wlft wh it
aftrat e e € T Fh ) g 3 goft wfafdat

g

Rashi Ltd. Issued 1000, 8% debentures of Rs. 100 each.

Amount payable Rs. 10 on application, Rs. 20 on
allotment, Rs. 40 on first call and Rs. 30 on final call.
All amount were duly received. Pass entries in the books
of company. |

1-242301-C
HIREINARIAE e
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7S . ()
Section - (B)

(Analysis of Financial Statement)
3 we Fw4iF 18 17 |9 #fa 77 3ot 77 & 4E T

w1 3 fratfa

Instruction: Question No. 18 and 19 are very short answer
type questions. Each question carries 1 mark.

wét fawe g
Choose the correct option:
uyt-18  anfda fugr Feamare - ]
(3 weafat & faaror (@) et & faraor
@) Refa fammor @ 1 faaTr
Financial statement (balance sheet) is called -
(a) Retails of Assets (b) Details of Liabilities
(c) Position statement (d) Income statement
WEH-19 TR Q] AT T &2 1
What is the Ideal Current Ratio?

3 W i 20 | 22 3% Y IR T & TE T W
4 37 Ptfe 1 T¥® ¥ R AafE e h

Instruction: Question No. 20 to 22 are short answer type
questions. Each question carries 4 marks. Each question

has an intemal choice.

LU0 I e PTO.
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S-20 reaforfan T & S SR 3 oe AR - 0
For @ 1,00,000 F. |
St Y 60,000 €.
I v A 20,000 %.
I e wwfeat 50,000%.

From the following information calculate current ratio-
Total Assets Rs. 1,00,000

Share holder fund Rs. 60,000

Non-current liabilities Rs. 20,000

Non-current assets Rs. 50,000

HAqqT
OR

P gt & et s it o Hifsg

aTe] *4aTE 1,40,000 %,

Fraiier $ft 1,80,000 %,

AER 3,000 F.

€% 1,10,000 %,
_Find out liquid ratio from the following information-
Current liability Rs. 1,40,000

Working Capital Rs. 1,80,000

Creditors Rs. 3,000

Stock Rs. 1,10,000

T T T T
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BIHHINTRRI N e
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‘gqe-21  OFE 3% frro 79 % - qee 71 fafay [1+1+14
Write any four importance of cash flow statement. 1=4]
A
OR
Write the four objectives of cash flow statement.
we-22 T gEE & s w dEer et 8 06 AR A [4]
T e -
faator 31-03-2007 | 31-03-2008
SATV-gTH Erar 1,20,000( 1,10,000
(ST 62,000 50,000
A 10T 42,000 24,000
qaad ST 4,000 8,000
IR 38,000 26,000
ha 76,000 80,000
Calculate the cash flow from the following operating
activities.
Particulars 31-03-2007 | 31-03-2008
Profit and Loss A/c. 1,20,000| 1,10,000
Debtors 62,000 50,000
Outstanding Rent 42,000 24,000
Prepaid Insurance 4,000 8,000
Creditor 38,000 26,000
Goodwill 76,000 80,000
L-242301-C PT.O:
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HAT
OR

TR quE & Y 31-03-2018 AW € A a6 7 50,000
w1 e i fmm P gt & SR WRERH

forarent @ Oe vare fRawer =g
ot 31-03-2017 | 31-03-2018
e 14,000 12,000
TR STRaT 40,000 50,000
qEeY T 2,000 3,000
A 4,000 3,000
RS ST 30,000 35,000

Hari and Company earned Rs. 50,000 as profit on the
year ending 31-03-2018. Prepare cash flow statement

from the following information on the basis of operating

activities.

Particulars 31-03-2017 | 31-03-2018
Stock 14,000 12,000
Trade Received 40,000 50,000
Prepaid Rent 2,000 3,000
Outstanding Expenses 4,000 3,000
Trade Liabilities 30,000 35,000

1L-242301-C
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& s i 23 4 ety v & v@ TH W6 IE
fraffa ®

Instruction: Question No. 23 is long answer type question
it carries 6 marks.

av-23  faefty it & et wr Ry gagmg @ 9)) [1+141+

Explain the objectives of financial statement analysis. 1+1+1
(any six) =6)

aqT
OR

ity faait & favetor £ sravesar wF aagnd
@15 6)

Explain any six necessities of financial statement
analysis. (any 6)

L201C | (IR e il
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(Computer Accounting)

Ay T w18 T 19 Y oY 3907 ¥ & I_RE 1
1 1 3% fRaifa ¥

Instruction: Question No. 18 and 19 are very short answer
type questions. Each question carries 1 mark.

wd fawer g
Choose the correct option:
WHA-18  FEIF AGHEA AR - 1)
(3 S @) S=nfa
(®) FEgE @ e
Drawbacks of computerized accounting is -
(a) High cost (b) High speed
(c) Work efficiency (d) Expensive
TR-19 didt g, w1 aw fafeg 1
Write the full form of CPU.

e ym i 2oézzaasagmmﬁ1 TAF T T
4 3% Fuiia & ¥3F v v iafw e
Instruction: Question No. 20 to 22 are short answer type

questions. Each question carries 4 marks. Each question
has an intemnal choice.

BT HITRHIme e
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20 FETA daie el & arg fafad (@i 9w [1+1+1+

Write the importance of computerized accounting 1=4]
system. (any four)

AqQT
OR

T it Y@ Rrirearsit # g (7 )
Explain main important characteristics of computer.
(any four)
W21 FEE Y FIAGHAT 5 FHR T G (7R [4]
Classify computer on its basis of efficiency. (any four)

HEQT
OR
TF ST SR IR A7 & IE fo aral Wea X Y
ST 8t &
What points are kept in mind while taking amny
accounting software sourcing?

w22 Ssvic =T ¥ i IR ot faRyg @ ) [143=4]
What is Spreadsheet? Write its uses. (any three)

A
OR

AW TEY JuITelt & wrf fafag
Write the functions of database management system.

pe (V[ 17111111 e
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A3y v wiE 23 A a7 B 560 T W6 IFF

fraRa &

Instruction: Question No. 23 is long answer type question
it carries 6 marks.

w23 3oy e R ey w3 ) 61
Explain the menits of Data Base Management System.

(any six)
HEqT

OR

e Menie e F 9y fafag @ 9)
Write demerits of Data Base Management System.
(amy six)

*dkkdktdiid
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